Test Sections8.1—-8.3 A.P.Caculus Mr. Pleacher Name

|. Multiple Choice

1J 5dx _
) Jo-x?
A) 5In(9-x*)+C
S 2
B) Z(|n(9—x ))+c
C) 5Sin*(2)+C

D) 5Tan™(%)+C
E) 5Sin™"(¥)+C

2. jcosz(x) dx =

(A) ix-2sin(2x)+C
(B) 2x+4sin(2x)+C
(C) 2x—-4sin(2x)+C
(D) 2x+4sin(2x)+C
(E) 2x—4cos(2x)+C

3. jtanzx sec? xdx =

A) isec’(x)+C
B) itan®(x)+C
C) isec’x+C
D) 3tan’x+C
E) itan®(x)+C




4 J xdx4:
1+ x

(A) iSin?*(x)+C
(B) Tan™*(x)+C
(C) iTan*(x*)+C
(D) iIn(x*)+C
(B) {@+xH'+C

5. ISin‘lx dx =
A) sin(x) - j J%
B) (Sin‘lx) c
Q) Sin(x)+ _:f”)‘(z
D) xCosl(x)—J\/%
X dx

E) xSin™(x)- J N
1-x*

6. Ie‘”(x) csc? xdx=

(A) e®™ 4cotx+C
(B) e®™ _cotx+C
(©) e™®C

(D) -e*™¥+C

(E) e™*™4iC




Il. Free Response

Determine the value of the following integrals:

7. Ixezxdx =

8. Ixzsin(x) dx =

9 JX—dX =
) J100-x?

3_ 2_
10. Jx 2x“—=15x + 2
X-5

dx=

11. [sin®xcos®xdx =

12. [e* cosxdx =

13. Itan3(2x)se03(2x)dx =
14. Isec(4x) dx =

15. j J4+9x dx =

1
16. dx =
Jsec(frx) X
17. Iexcosexdx =
18. [(4-2x)"dx =

19. j(4—2x2)2 dx

20.J dx
xInx




